Events

Events

Events

10?

10

10?

10

10°

10

P2 = 40-60 GeV 0.05 pb* (7 Tev)

i cMs
T E
= #‘ ]
s ¥ ]
5 _+ Data, OS
r -¢ - Data, SS

N,

tracks

°2 = 60-100 GeV

0.41 pb* (7 Tev)

CMS

T g
L

—— =0 __g
=
Xad

#

TR
Lol

%

—+— Data, OS
-¢ - Data, SS

IR S

oo b e b b L L
0 15 20 5 30

N,

tracks

p"j‘z =100-200 GeV 8 pbt (7 Tev)

g
C CMS 1]
L e a ]
L == - il |
‘.-oit'

L +¢ _|
T E
:ﬁf‘ ]
P i
i-: —- Data, OS 3
i -¢ - Data, SS ]
con b b b e e e L

10 15 20 25 30 35

N,

tracks

Events

Events

Events

p2 = 60-100 GeV 0.41 pb™* (7 TeV)

L e e
F CMS 7

100 E
}; ]

-y i

10— —e— Data, OS —
E — NBD fit 7

g e NBD fit extrapolation ]

e b b e L L

35

Ntracks

pj:'zzloo-zoo GeV 8 pb™ (7 Tev)

L B

C CMS 7

107 E
- .

L o i

10— —e— Data, OS =
) — NBDfit i E

C e NBD fit extrapolation i

e b b e L L

1 30 35

Ntracks

d:‘2:4o-60 GeV 0.05 pb* (7 TeV)

R B o e BN B

F CMS ]

107 E
y Y ]

10e —e— Data, OS —
E — NBD fit E

C e NBD fit extrapolation J

le i

o b b b b b L

0 5 10 15 20 25 30 35

Ntracks



